A. ALEMAYEHU			\$63.00	1	\$63.00
Daily Transient - Ca	ch		\$64.00	1	\$64.00
Rate	# Tickets	Total Fees	\$68.00	2	\$136.00
\$3.00	46	\$138.00	\$80.00	1	\$80.00
\$4.00	6	\$24.00	\$85.00	6	\$510.00
\$5.00	9	\$45.00		68	\$2,530.00
\$7.00	1	\$7.00	A. ALEMAYEHU	141	\$3,347.00
\$16.00	2	\$32.00		141	φ3,347.00
\$28.00	1	\$28.00			
\$31.00	2	\$62.00			
\$50.00	1	\$50.00			
\$51.00	3	\$153.00			
\$136.00	1	\$136.00			
\$142.00	1	\$142.00			
-	73	\$817.00			
Deily Trensient Or	adit Card				
Daily Transient - Cre Rate	<u># Tickets</u>	Total Fees			
\$3.00	1	\$3.00			
\$4.00	1	\$4.00			
\$7.00	1	\$7.00			
\$8.00	1	\$8.00			
\$9.00	1	\$9.00			
\$12.00	1	\$12.00			
\$16.00	1	\$16.00			
\$17.00	13	\$221.00			
\$24.00	1	\$24.00			
\$27.00	4	\$108.00			
\$31.00	2	\$62.00			
\$33.00	1	\$33.00			
\$34.00	16	\$544.00			
\$38.00	1	\$38.00			
\$44.00	2	\$88.00			
\$47.00	1	\$47.00			
\$48.00	2	\$96.00			
\$50.00	1	\$50.00			
\$51.00	5	\$255.00			
\$52.00	1	\$52.00			

A. BIRU			\$68.00	10	\$680.00
			\$74.00	1	\$74.00
Daily Transient - C Rate	asn <u># Tickets</u>	Total Fees	\$80.00	2	\$160.00
\$3.00	111	\$333.00	\$85.00	1	\$85.00
\$5.00	40	\$200.00	\$95.00	1	\$95.00
\$7.00	9	\$63.00	\$97.00	1	\$97.00
\$17.00	2	\$34.00	\$102.00	3	\$306.00
\$19.00	1	\$19.00	\$204.00	1	\$204.00
\$34.00	4	\$136.00		99	\$3,912.00
\$51.00	1	\$51.00		260	¢4,000,00
\$68.00	1	\$68.00	A. BIRU	269	\$4,920.00
\$104.00	1	\$104.00			
	170	\$1,008.00			
Deily Transiant C	radit Card				
Daily Transient - C Rate	<u># Tickets</u>	Total Fees			
\$3.00	15	\$45.00			
\$5.00	3	\$15.00			
\$13.00	1	\$13.00			
\$17.00	13	\$221.00			
\$23.00	1	\$23.00			
\$25.00	2	\$50.00			
\$27.00	2	\$54.00			
\$29.00	1	\$29.00			
\$33.00	3	\$99.00			
\$34.00	14	\$476.00			
\$36.00	1	\$36.00			
\$38.00	2	\$76.00			
\$39.00	1	\$39.00			
\$40.00	1	\$40.00			
\$42.00	1	\$42.00			
\$46.00	2	\$92.00			
\$47.00	1	\$47.00			
\$48.00	1	\$48.00			
\$51.00	9	\$459.00			
\$59.00	3	\$177.00			
\$63.00	1	\$63.00			
\$67.00	1	\$67.00			

From 10/04/2011 01:27:00AM To 10/11/2011 11:37:00PM

### A. KIBROM

Daily Transient - Cash						
Rate	# Tickets	<u>Total Fees</u>				
\$2.00	1	\$2.00				
\$4.00	2	\$8.00				
\$12.00	2	\$24.00				
\$16.00	1	\$16.00				
\$20.00	3	\$60.00				
-	9	\$110.00				
Daily Transient - Credit Card						

Daily Hallsleill - Cleuil Calu					
Rate	<u># Tickets</u>	<u>Total Fees</u>			
\$16.00	1	\$16.00			
\$20.00	1	\$20.00			
\$32.00	2	\$64.00			
\$44.00	1	\$44.00			
	5	\$144.00			
A. KIBROM	14	\$254.00			

A. LOVE			\$53.00	1	\$53.00
	h		\$55.00	1	\$55.00
Daily Transient - Ca Rate	# Tickets	Total Fees	\$63.00	2	\$126.00
\$3.00	164	\$492.00	\$68.00	7	\$476.00
\$5.00	52	\$260.00	\$74.00	2	\$148.00
\$7.00	9	\$63.00	\$85.00	2	\$170.00
\$9.00	1	\$9.00	\$93.00	1	\$93.00
\$11.00	2	\$22.00	\$180.00	1	\$180.00
\$17.00	3	\$51.00	\$272.00	1	\$272.00
\$23.00	1	\$23.00	_	76	\$3,281.00
\$34.00	5	\$170.00	A. LOVE	320	\$4,730.00
\$38.00	2	\$76.00		320	φ4,730.00
\$50.00	1	\$50.00			
\$51.00	2	\$102.00			
\$63.00	1	\$63.00			
\$68.00	1	\$68.00			
	244	\$1,449.00			
Daily Transient - C	redit Card				
Rate	<u># Tickets</u>	<u>Total Fees</u>			
\$3.00	13	\$39.00			
\$5.00	2	\$10.00			
\$9.00	3	\$27.00			
\$17.00	2	\$34.00			
\$23.00	1	\$23.00			
\$27.00	1	\$27.00			
\$29.00	1	\$29.00			
\$31.00	1	\$31.00			
\$33.00	1	\$33.00			
\$34.00	8	\$272.00			
\$36.00	1	\$36.00			
\$40.00	3	\$120.00			
\$42.00	2	\$84.00			
\$44.00	1	\$44.00			
\$46.00	3	\$138.00			
\$48.00	1	\$48.00			
\$50.00	1	\$50.00			
\$51.00	13	\$663.00			

Daily Transient - Cash     Total Fees     \$119.00     1     \$119.00       S3.00     68     \$204.00     \$153.00     1     \$153.00       \$7.00     3     \$21.00     \$153.00     59     \$2.555.00       \$9.00     2     \$18.00     \$160     \$50.00     \$17.00     \$110.00     \$13.00     \$110.00     \$17.00     \$111.00     \$17.00     \$111.00     \$17.00     \$111.00     \$17.00     \$111.00     \$17.00     \$111.00     \$17.00     \$111.00     \$17.00     \$111.00     \$17.00     \$113.00     \$11.00	A. WORKNEH			\$102.00	1	\$102.00
Rate     # Tickets     Total Fees     \$153.00     1     \$153.00       \$3.00     68     \$204.00     59     \$2,555.00       \$7,00     3     \$21.00     \$4     156     \$3,139.00       \$9.00     2     \$18.00     \$4     \$4     \$4     \$4     \$4     \$4     \$4     \$4     \$4     \$4     \$4     \$59     \$2,555.00     \$59     \$2,555.00     \$4     \$4     \$4     \$6     \$6     \$3,139.00     \$4     \$4     \$6     \$50     \$2,550.00     \$50     \$52,557.00     \$4     \$4     \$6     \$50,00     \$50     \$51,100     \$51,100     \$1     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$50,00     \$51,00     \$50,00     \$51,00     \$50,00     \$51,00     \$60,00     \$51,00     \$61,00     \$62,00     \$65,00     \$64,00     \$64,00     \$64,00     \$64,00     \$64,00     \$64,00 <th></th> <th> h</th> <th></th> <th>\$119.00</th> <th>1</th> <th>\$119.00</th>		h		\$119.00	1	\$119.00
\$3.00 68 \$204.00   \$5.00 10 \$50.00   \$7.00 3 \$21.00   \$11.00 1 \$11.00   \$11.00 1 \$11.00   \$11.00 1 \$11.00   \$11.00 1 \$11.00   \$20.00 1 \$20.00   \$20.00 1 \$20.00   \$22.00 1 \$20.00   \$22.00 1 \$20.00   \$31.00 1 \$31.00   \$33.00 1 \$31.00   \$33.00 1 \$36.00   97 \$584.00   \$3.00 6 \$18.00   \$5.00 1 \$5.00   \$20.00 1 \$20.00   \$23.00 2 \$46.00   \$23.00 2 \$46.00   \$23.00 2 \$46.00   \$23.00 2 \$46.00   \$33.00 2 \$66.00   \$33.00 2 \$66.00   \$33.00 2 \$12.00   \$31.00 1 \$29.00   \$31.00 1 \$29.00   \$33.00 2 \$12.00   \$33.00 2 \$12.00   \$46.00	=		Total Fees	\$153.00	1	\$153.00
\$7.00 3 \$21.00   \$8.00 2 \$18.00   \$11.00 1 \$11.00   \$13.00 1 \$13.00   \$17.00 7 \$11.00   \$20.00 1 \$20.00   \$22.00 1 \$20.00   \$27.00 1 \$20.00   \$31.00 1 \$31.00   \$34.00 1 \$34.00   \$36.00 1 \$36.00   97 \$584.00   Daily Transient - Credit Card Total Fees   \$3.00 6 \$18.00   \$7.00 1 \$20.00   \$20.00 1 \$20.00   \$21.00 1 \$20.00   \$22.00 1 \$20.00   \$23.00 2 \$46.00   \$22.00 1 \$29.00   \$31.00 1 \$31.00   \$33.00 2 \$66.00   \$34.00 1 \$29.00   \$33.00 2 \$61.00   \$34.00 2 \$92.00   \$31.00 1 \$26.00   \$65.00 1 \$68.00   \$78.00 1 \$78.00   \$78.00 1 \$78.00   \$85.00 <th></th> <th></th> <th></th> <th></th> <th>59</th> <th>\$2,555.00</th>					59	\$2,555.00
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	\$5.00	10	\$50.00		156	0,001 22
	\$7.00	3	\$21.00		150	φ <u>3</u> ,139.00
	\$9.00	2	\$18.00			
	\$11.00	1	\$11.00			
\$20.00   1   \$20.00     \$27.00   1   \$27.00     \$31.00   1   \$31.00     \$34.00   1   \$34.00     \$36.00   1   \$36.00     97   \$584.00     Daily Transient - Credit Card     Rate   # Tickets   Total Fees     \$3.00   6   \$18.00     \$5.00   1   \$5.00     \$57.00   1   \$5.00     \$17.00   6   \$102.00     \$20.00   1   \$20.00     \$23.00   2   \$46.00     \$23.00   2   \$46.00     \$34.00   1   \$29.00     \$31.00   1   \$29.00     \$34.00   12   \$408.00     \$34.00   12   \$408.00     \$34.00   1   \$561.00     \$34.00   2   \$126.00     \$56.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$13.00	1	\$13.00			
\$27.00   1   \$27.00     \$31.00   1   \$31.00     \$34.00   1   \$34.00     \$36.00   1   \$36.00     97   \$584.00     Daily Transient - Credit Card     Rate   # Tickets   Total Fees     \$3.00   6   \$18.00     \$5.00   1   \$5.00     \$7.00   1   \$7.00     \$17.00   6   \$102.00     \$20.00   1   \$20.00     \$23.00   2   \$46.00     \$29.00   1   \$29.00     \$31.00   1   \$31.00     \$33.00   2   \$66.00     \$34.00   12   \$408.00     \$46.00   2   \$92.00     \$51.00   11   \$561.00     \$63.00   2   \$126.00     \$65.00   1   \$68.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$17.00	7	\$119.00			
$ \begin{array}{c ccccccccccccccccccccccccccccccccccc$	\$20.00	1	\$20.00			
$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	\$27.00	1	\$27.00			
$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	\$31.00	1	\$31.00			
97\$584.00Daily Transient - Credit CardRate $#$ TicketsTotal Fees\$3.006\$18.00\$5.001\$5.00\$7.001\$7.00\$17.006\$102.00\$20.001\$20.00\$23.002\$46.00\$29.001\$29.00\$31.001\$31.00\$33.002\$66.00\$34.0012\$408.00\$46.002\$92.00\$51.0011\$561.00\$63.002\$126.00\$65.001\$68.00\$78.001\$78.00\$78.001\$78.00\$85.002\$170.00	\$34.00	1	\$34.00			
Daily Transient - Credit CardRate# TicketsTotal Fees $\$3.00$ 6\$18.00 $\$5.00$ 1\$5.00 $\$7.00$ 1\$7.00 $\$7.00$ 1\$7.00 $\$7.00$ 1\$20.00 $\$20.00$ 1\$20.00 $\$23.00$ 2\$46.00 $\$29.00$ 1\$29.00 $\$31.00$ 1\$31.00 $\$33.00$ 2\$66.00 $\$34.00$ 12\$408.00 $\$46.00$ 2\$92.00 $\$51.00$ 11\$561.00 $\$63.00$ 2\$126.00 $\$65.00$ 1\$68.00 $\$78.00$ 1\$78.00 $\$78.00$ 1\$78.00 $\$85.00$ 2\$17.00	\$36.00	1	\$36.00			
Rate# TicketsTotal Fees $\$3.00$ 6\$18.00 $\$5.00$ 1\$5.00 $\$7.00$ 1\$7.00 $\$17.00$ 6\$102.00 $\$20.00$ 1\$20.00 $\$23.00$ 2\$46.00 $\$29.00$ 1\$29.00 $\$31.00$ 1\$31.00 $\$33.00$ 2\$66.00 $\$34.00$ 12\$408.00 $\$46.00$ 2\$92.00 $\$51.00$ 11\$561.00 $\$63.00$ 2\$126.00 $\$65.00$ 1\$65.00 $\$68.00$ 1\$68.00 $\$78.00$ 1\$78.00 $\$85.00$ 2\$170.00		97	\$584.00			
Rate# TicketsTotal Fees $\$3.00$ 6\$18.00 $\$5.00$ 1\$5.00 $\$7.00$ 1\$7.00 $\$17.00$ 6\$102.00 $\$20.00$ 1\$20.00 $\$23.00$ 2\$46.00 $\$29.00$ 1\$29.00 $\$31.00$ 1\$31.00 $\$33.00$ 2\$66.00 $\$34.00$ 12\$408.00 $\$46.00$ 2\$92.00 $\$51.00$ 11\$561.00 $\$63.00$ 2\$126.00 $\$65.00$ 1\$65.00 $\$68.00$ 1\$68.00 $\$78.00$ 1\$78.00 $\$85.00$ 2\$170.00	Daily Transiont - C	rodit Card				
\$3.006\$18.00\$5.001\$5.00\$7.001\$7.00\$17.006\$102.00\$20.001\$20.00\$23.002\$46.00\$29.001\$29.00\$31.001\$31.00\$33.002\$66.00\$34.0012\$408.00\$46.002\$92.00\$51.0011\$561.00\$63.002\$126.00\$65.001\$65.00\$68.001\$65.00\$78.001\$78.00\$85.002\$170.00			Total Fees			
\$7.001\$7.00\$17.006\$102.00\$20.001\$20.00\$23.002\$46.00\$29.001\$29.00\$31.001\$31.00\$33.002\$66.00\$34.0012\$408.00\$46.002\$92.00\$51.0011\$561.00\$63.002\$126.00\$65.001\$65.00\$68.001\$68.00\$78.001\$78.00\$78.001\$78.00\$85.002\$170.00						
\$17.00   6   \$102.00     \$20.00   1   \$20.00     \$23.00   2   \$46.00     \$29.00   1   \$29.00     \$31.00   1   \$31.00     \$33.00   2   \$66.00     \$34.00   12   \$408.00     \$46.00   2   \$92.00     \$51.00   11   \$561.00     \$63.00   2   \$126.00     \$65.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$5.00	1	\$5.00			
\$20.00   1   \$20.00     \$23.00   2   \$46.00     \$29.00   1   \$29.00     \$31.00   1   \$31.00     \$33.00   2   \$66.00     \$34.00   12   \$408.00     \$46.00   2   \$92.00     \$51.00   11   \$561.00     \$63.00   2   \$126.00     \$65.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$7.00	1	\$7.00			
\$23.00   2   \$46.00     \$29.00   1   \$29.00     \$31.00   1   \$31.00     \$33.00   2   \$66.00     \$34.00   12   \$408.00     \$46.00   2   \$92.00     \$51.00   11   \$561.00     \$63.00   2   \$126.00     \$65.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$17.00	6	\$102.00			
\$29.00   1   \$29.00     \$31.00   1   \$31.00     \$33.00   2   \$66.00     \$34.00   12   \$408.00     \$46.00   2   \$92.00     \$51.00   11   \$561.00     \$63.00   2   \$126.00     \$65.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$20.00	1	\$20.00			
\$31.00   1   \$31.00     \$33.00   2   \$66.00     \$34.00   12   \$408.00     \$46.00   2   \$92.00     \$51.00   11   \$561.00     \$63.00   2   \$126.00     \$65.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$23.00	2	\$46.00			
\$33.002\$66.00\$34.0012\$408.00\$46.002\$92.00\$51.0011\$561.00\$63.002\$126.00\$65.001\$65.00\$68.001\$68.00\$78.001\$78.00\$85.002\$170.00	\$29.00	1	\$29.00			
\$34.00   12   \$408.00     \$46.00   2   \$92.00     \$51.00   11   \$561.00     \$63.00   2   \$126.00     \$65.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$31.00	1	\$31.00			
\$46.00   2   \$92.00     \$51.00   11   \$561.00     \$63.00   2   \$126.00     \$65.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$33.00	2	\$66.00			
\$51.00   11   \$561.00     \$63.00   2   \$126.00     \$65.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$34.00	12	\$408.00			
\$63.00   2   \$126.00     \$65.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$46.00	2	\$92.00			
\$65.00   1   \$65.00     \$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$51.00	11	\$561.00			
\$68.00   1   \$68.00     \$78.00   1   \$78.00     \$85.00   2   \$170.00	\$63.00	2	\$126.00			
\$78.00   1   \$78.00     \$85.00   2   \$170.00	\$65.00	1	\$65.00			
\$85.00 2 \$170.00	\$68.00	1	\$68.00			
	\$78.00	1	\$78.00			
\$95.00 1 \$95.00	\$85.00	2	\$170.00			
	\$95.00	1	\$95.00			
\$97.00 2 \$194.00	\$97.00	2	\$194.00			

From 10/04/2011 01:27:00AM To 10/11/2011 11:37:00PM

#### D. DISTIN

D. DISTIN		
Daily Transient - Ca	sh	
Rate	<u># Tickets</u>	Total Fees
\$3.00	41	\$123.00
\$5.00	8	\$40.00
\$9.00	1	\$9.00
\$17.00	2	\$34.00
\$19.00	2	\$38.00
\$27.00	1	\$27.00
\$47.00	1	\$47.00
\$51.00	1	\$51.00
	57	\$369.00
Daily Transient - Cro	edit Card	
Rate	<u># Tickets</u>	<u>Total Fees</u>
\$3.00	5	\$15.00
\$5.00	1	\$5.00
\$9.00	1	\$9.00
\$15.00	3	\$45.00
\$17.00	5	\$85.00
\$27.00	1	\$27.00
\$29.00	1	\$29.00
\$31.00	1	\$31.00
\$34.00	10	\$340.00
\$44.00	1	\$44.00
\$51.00	4	\$204.00
\$53.00	2	\$106.00
\$68.00	2	\$136.00
\$153.00	1	\$153.00
	38	\$1,229.00
D. DISTIN	95	\$1,598.00

From 10/04/2011 01:27:00AM To 10/11/2011 11:37:00PM

Total Fees

E. ESHET	E	
Daily Tra	nsient - Ca	ash
	<u>Rate</u>	<u> </u>
	\$3.00	
	\$5.00	

\$3.00	137	\$411.00
\$5.00	27	\$135.00
\$7.00	4	\$28.00
\$9.00	3	\$27.00
\$11.00	2	\$22.00
\$27.00	2	\$54.00
\$29.00	1	\$29.00
\$31.00	1	\$31.00
\$33.00	1	\$33.00
\$34.00	1	\$34.00
\$42.00	1	\$42.00
\$51.00	1	\$51.00
\$65.00	1	\$65.00
\$68.00	1	\$68.00
\$85.00	1	\$85.00
\$148.00	1	\$148.00
	185	\$1,263.00

# Tickets

\$38.00	1	\$38.00
\$46.00	2	\$92.00
\$50.00	1	\$50.00
\$51.00	5	\$255.00
\$54.00	1	\$54.00
\$55.00	1	\$55.00
\$57.00	1	\$57.00
\$61.00	1	\$61.00
\$68.00	2	\$136.00
\$85.00	1	\$85.00
\$99.00	1	\$99.00
\$108.00	1	\$108.00
\$136.00	2	\$272.00
	48	\$1,820.00
E. ESHETE	234	\$3,125.00

Daily Transient - Cash + Credit Card							
Rate	<u># Tickets</u>	Total Fees					
\$42.00	1	\$42.00					
	1	\$42.00					
Daily Transient - Cro	edit Card						
Rate	# Tickets	Total Fees					
\$3.00	6	\$18.00					
\$5.00	2	\$10.00					
\$7.00	2	\$14.00					
\$13.00	2	\$26.00					
\$17.00	6	\$102.00					
\$19.00	2	\$38.00					
\$23.00	1	\$23.00					
\$27.00	1	\$27.00					
\$31.00	2	\$62.00					
\$34.00	3	\$102.00					
\$36.00	1	\$36.00					

L. ALSTON			\$46.00	2	\$92.00
Daily Transient - C	ach		\$51.00	10	\$510.00
Rate	<u># Tickets</u>	Total Fees	\$53.00	1	\$53.00
\$3.00	210	\$630.00	\$55.00	1	\$55.00
\$5.00	47	\$235.00	\$67.00	1	\$67.00
\$7.00	13	\$91.00	\$68.00	4	\$272.00
\$9.00	6	\$54.00	\$85.00	2	\$170.00
\$17.00	7	\$119.00	\$99.00	1	\$99.00
\$25.00	1	\$25.00	\$167.00	1	\$167.00
\$27.00	1	\$27.00	-	97	\$3,079.00
\$31.00	1	\$31.00	L. ALSTON	392	\$4,725.00
\$34.00	3	\$102.00		592	φ4,723.00
\$36.00	1	\$36.00			
\$50.00	1	\$50.00			
\$51.00	2	\$102.00			
\$68.00	1	\$68.00			
\$76.00	1	\$76.00			
	295	\$1,646.00			
Daily Transient - C	redit Card				
<u>Rate</u>	<u># Tickets</u>	Total Fees			
\$3.00	13	\$39.00			
\$5.00	4	\$20.00			
\$7.00	1	\$7.00			
\$9.00	2	\$18.00			
\$11.00	1	\$11.00			
\$17.00	10	\$170.00			
\$19.00	4	\$76.00			
\$23.00 \$25.00	3	\$69.00 \$50.00			
\$25.00	2	\$50.00			
\$27.00	6	\$162.00			
\$31.00	3	\$93.00			
\$33.00	2	\$66.00			
\$34.00 \$36.00	19	\$646.00			
\$36.00	 	\$36.00 \$40.00			
\$42.00		\$42.00			
\$44.00 \$45.00	1	\$44.00 \$45.00			
\$45.00	1	\$45.00			

L. WELDAY		
Daily Transient - Ca		Table
<u>Rate</u> \$4.00	<u># Tickets</u> 1	<u>Total Fees</u> \$4.00
	1	\$4.00
L. WELDAY	1	\$4.00

From 10/04/2011 01:27:00AM To 10/11/2011 11:37:00PM

#### M. HASHI

MI. HASHI				
Daily Transient - Ca				
Rate	<u># Tickets</u>	Total Fees		
\$3.00 \$5.00	212	\$636.00 \$200.00		
\$5.00	58	\$290.00		
\$7.00	4	\$28.00		
\$9.00	2	\$18.00		
\$17.00	1	\$17.00		
\$21.00	1	\$21.00		
\$34.00	1	\$34.00		
\$40.00	1	\$40.00		
\$42.00	1	\$42.00		
\$68.00	2	\$136.00		
	283	\$1,262.00		
Daily Transient - Cre		Table		
<u>Rate</u> \$3.00	<u># Tickets</u> 17	<u>Total Fees</u> \$51.00		
\$5.00	4	\$31.00 \$20.00		
\$7.00	4	\$20.00 \$7.00		
\$17.00	4	\$68.00		
\$23.00	4			
\$23.00 \$27.00	2	\$23.00 \$54.00		
		-		
\$29.00	1	\$29.00		
\$34.00	2	\$68.00		
\$51.00	2	\$102.00		
\$55.00	1	\$55.00		
\$57.00	1	\$57.00		
\$63.00	1	\$63.00		
\$65.00	1	\$65.00		
\$67.00	1	\$67.00		
\$68.00	2	\$136.00		
\$76.00	1	\$76.00		
\$85.00	1	\$85.00		
\$102.00	1	\$102.00		
	44	\$1,128.00		
M. HASHI	327	\$2,390.00		

From 10/04/2011 01:27:00AM To 10/11/2011 11:37:00PM

#### M. KHAN

Daily Transient - Ca	sh	
Rate	# Tickets	Total Fees
\$4.00	5	\$20.00
\$8.00	4	\$32.00
\$10.00	2	\$20.00
\$11.00	1	\$11.00
\$12.00	5	\$60.00
\$15.00	1	\$15.00
\$16.00	3	\$48.00
\$18.00	1	\$18.00
\$24.00	1	\$24.00
\$30.00	1	\$30.00
\$36.00	2	\$72.00
\$40.00	1	\$40.00
-	27	\$390.00
Daily Transient - Cre	edit Card	
Rate	<u># Tickets</u>	<u>Total Fees</u>
\$8.00	1	\$8.00
\$12.00	3	\$36.00
\$14.00	1	\$14.00
\$16.00	2	\$32.00
\$36.00	2	\$72.00
\$38.00	1	\$38.00
\$48.00	1	\$48.00
-	11	\$248.00
M. KHAN	38	\$638.00

From 10/04/2011 01:27:00AM To 10/11/2011 11:37:00PM

#### M. SHIBESHI

Daily Transient - Cash				
<u>Rate</u> \$4.00	<u># Tickets</u> 2	<u>Total Fees</u> \$8.00		
\$12.00	2	\$24.00		
\$16.00	2	\$32.00		
\$32.00	1	\$32.00		
φ52.00	•	-		
	7	\$96.00		
Daily Transient - Cr	edit Card			
Daily Transient - Cro Rate	edit Card <u># Tickets</u>	Total Fees		
-		<u>Total Fees</u> \$8.00		
Rate				
<u>Rate</u> \$8.00		\$8.00		
<u>Rate</u> \$8.00 \$16.00		\$8.00 \$16.00		
<u>Rate</u> \$8.00 \$16.00 \$28.00		\$8.00 \$16.00 \$28.00		

From 10/04/2011 01:27:00AM To 10/11/2011 11:37:00PM

M. YIRGU			\$31.00	3	\$93.00
Daily Transient - Ca	eh		\$34.00	8	\$272.00
Rate	<u># Tickets</u>	Total Fees	\$35.00	1	\$35.00
\$3.00	610	\$1,830.00	\$38.00	3	\$114.00
\$5.00	147	\$735.00	\$40.00	2	\$80.00
\$7.00	11	\$77.00	\$41.00	1	\$41.00
\$9.00	9	\$81.00	\$42.00	4	\$168.00
\$11.00	3	\$33.00	\$48.00	2	\$96.00
\$15.00	2	\$30.00	\$51.00	13	\$663.00
\$19.00	1	\$19.00	\$55.00	1	\$55.00
\$23.00	1	\$23.00	\$57.00	1	\$57.00
\$25.00	1	\$25.00	\$58.00	1	\$58.00
\$34.00	1	\$34.00	\$59.00	1	\$59.00
\$51.00	2	\$102.00	\$61.00	4	\$244.00
\$68.00	5	\$340.00	\$65.00	1	\$65.00
\$72.00	1	\$72.00	\$67.00	2	\$134.00
\$74.00	1	\$74.00	\$68.00	5	\$340.00
\$76.00	1	\$76.00	\$70.00	1	\$70.00
\$78.00	1	\$78.00	\$72.00	1	\$72.00
\$84.00	2	\$168.00	\$74.00	2	\$148.00
\$85.00	3	\$255.00	\$78.00	1	\$78.00
\$131.00	1	\$131.00	\$80.00	2	\$160.00
	803	\$4,183.00	\$82.00	2	\$164.00
Deiles Trensient Or			\$84.00	2	\$168.00
Daily Transient - Cr Rate	<u># Tickets</u>	<u>Total Fees</u>	\$85.00	6	\$510.00
\$3.00	38	\$114.00	\$93.00	1	\$93.00
\$5.00	28	\$140.00	\$97.00	2	\$194.00
\$7.00	9	\$63.00	\$102.00	1	\$102.00
\$9.00	6	\$54.00	\$108.00	2	\$216.00
\$13.00	3	\$39.00	\$118.00	1	\$118.00
\$17.00	4	\$68.00	\$119.00	2	\$238.00
\$19.00	2	\$38.00	\$129.00	1	\$129.00
\$21.00	1	\$21.00	\$163.00	1	\$163.00
\$23.00	2	\$46.00	\$193.00	1	\$193.00
\$25.00	2	\$50.00	\$201.00	1	\$201.00
\$27.00	2	\$54.00	_	181	\$6,307.00
\$29.00	1	\$29.00	M. YIRGU	984	\$10,490.00

Page: 13 C:\Framework\Lelco\CPS\AMCFeeDetailCashierVouch.rpt Ver 01/21/2013

O. MORA			\$51.00	1	\$51.00
Daily Transient - C	ash		\$60.00	1	\$60.00
Rate	<u># Tickets</u>	<u>Total Fees</u>	\$84.00	1	\$84.00
\$2.00	1	\$2.00	\$96.00	1	\$96.00
\$4.00	10	\$40.00		46	\$1,086.00
\$8.00	3	\$24.00	O. MORA	111	\$2,202.00
\$12.00	6	\$72.00			ΨΖ,ΖΟΖ.ΟΟ
\$14.00	1	\$14.00			
\$15.00	1	\$15.00			
\$16.00	18	\$288.00			
\$18.00	1	\$18.00			
\$19.00	1	\$19.00			
\$20.00	12	\$240.00			
\$24.00	2	\$48.00			
\$28.00	2	\$56.00			
\$32.00	3	\$96.00			
\$40.00	1	\$40.00			
\$44.00	1	\$44.00			
\$48.00	1	\$48.00			
\$52.00	1	\$52.00			
	65	\$1,116.00			
Doily Transiant C	redit Card				
Daily Transient - C Rate	<u># Tickets</u>	Total Fees			
\$4.00	4	\$16.00			
\$8.00	2	\$16.00			
\$12.00	5	\$60.00			
\$14.00	1	\$14.00			
\$15.00	1	\$15.00			
\$16.00	10	\$160.00			
\$20.00	8	\$160.00			
\$24.00	3	\$72.00			
\$27.00	1	\$27.00			
\$28.00	3	\$84.00			
\$32.00	1	\$32.00			
\$44.00	1	\$44.00			
\$47.00	1	\$47.00			
\$48.00	1	\$48.00			

<b>S</b> . /	ALI
--------------	-----

Daily Transient - Cash					
Rate	<u># Tickets</u>	<u>Total Fees</u>			
\$2.00	1	\$2.00			
\$3.00	21	\$63.00			
\$4.00	2	\$8.00			
\$5.00	2	\$10.00			
\$8.00	1	\$8.00			
-	27	\$91.00			
Daily Transient - Cre	adit Card				

Dally Transient - Credit Card			
Rate	<u># Tickets</u>	<u>Total Fees</u>	
\$3.00	1	\$3.00	
\$13.00	1	\$13.00	
\$17.00	1	\$17.00	
	3	\$33.00	
S. ALI	30	\$124.00	

From 10/04/2011 01:27:00AM To 10/11/2011 11:37:00PM

#### S. BRADY

Daily Transient - Cash				
Rate	<u># Tickets</u>	<u>Total Fees</u>		
\$4.00	1	\$4.00		
\$8.00	1	\$8.00		
\$12.00	1	\$12.00		
\$24.00	1	\$24.00		
\$32.00	2	\$64.00		
-	6	\$112.00		
Daily Transient - Credit Card				
<u>Rate</u>	<u># Tickets</u>	<u>Total Fees</u>		
\$4.00	2	\$8.00		
\$8.00	2	\$16.00		

S. BRADY	16	\$412.00
	10	\$300.00
\$108.00	1	\$108.00
\$64.00	1	\$64.00
\$32.00	1	\$32.00
\$24.00	3	\$72.00
φ0.00	2	φ10.00

From 10/04/2011 01:27:00AM To 10/11/2011 11:37:00PM

### S. HABTE

Daily Transient - Ca		Tatal Face		
<u>Rate</u> \$2.00	<u># Tickets</u> 2	<u>Total Fees</u> \$4.00		
\$3.00	1	\$3.00		
\$4.00	26	\$3.00 \$104.00		
\$8.00	3	\$24.00		
\$10.00	1	\$10.00		
\$12.00	7	\$10.00 \$84.00		
\$16.00	19	\$304.00		
\$19.00	1	\$304.00 \$19.00		
\$20.00	10	\$200.00		
\$22.00	1	φ200.00 \$22.00		
\$24.00	4	\$96.00		
\$28.00	4	\$90.00 \$28.00		
\$48.00	1	\$28.00 \$48.00		
φ+0.00	77	\$946.00		
	11	φ940.00		
Daily Transient - Cre	edit Card			
Rate	<u># Tickets</u>	Total Fees		
\$4.00	3	\$12.00		
\$8.00	2	\$16.00		
\$11.00	1	\$11.00		
\$12.00	12	\$144.00		
\$16.00	15	\$240.00		
\$18.00	2	\$36.00		
\$20.00	10	\$200.00		
\$24.00	8	\$192.00		
\$28.00	3	\$84.00		
\$32.00	2	\$64.00		
\$36.00	1	\$36.00		
\$40.00	1	\$40.00		
\$44.00	1	\$44.00		
\$48.00	1	\$48.00		
\$51.00	1	\$51.00		
\$56.00	1	\$56.00		
-	64	\$1,274.00		
S. HABTE	141	\$2,220.00		

Printed On: 01/21/2013

S. KUBROM			\$31.00	2	\$62.00
Daily Transient - Ca	ch		\$33.00	1	\$33.00
Rate	<u># Tickets</u>	Total Fees	\$34.00	20	\$680.00
\$3.00	225	\$675.00	\$36.00	2	\$72.00
\$5.00	59	\$295.00	\$37.00	1	\$37.00
\$7.00	3	\$21.00	\$38.00	1	\$38.00
\$9.00	1	\$9.00	\$44.00	3	\$132.00
\$13.00	2	\$26.00	\$48.00	6	\$288.00
\$16.00	2	\$32.00	\$50.00	4	\$200.00
\$17.00	5	\$85.00	\$51.00	12	\$612.00
\$20.00	1	\$20.00	\$54.00	1	\$54.00
\$25.00	1	\$25.00	\$59.00	1	\$59.00
\$27.00	1	\$27.00	\$60.00	1	\$60.00
\$31.00	1	\$31.00	\$61.00	3	\$183.00
\$33.00	1	\$33.00	\$65.00	2	\$130.00
\$34.00	3	\$102.00	\$66.00	1	\$66.00
\$44.00	1	\$44.00	\$67.00	3	\$201.00
\$46.00	1	\$46.00	\$68.00	8	\$544.00
\$51.00	3	\$153.00	\$70.00	1	\$70.00
\$68.00	1	\$68.00	\$72.00	2	\$144.00
\$85.00	1	\$85.00	\$74.00	1	\$74.00
\$119.00	1	\$119.00	\$78.00	2	\$156.00
	313	\$1,896.00	\$80.00	1	\$80.00
Deily Transiant Or			\$81.00	2	\$162.00
Daily Transient - Cr Rate	<u># Tickets</u>	Total Fees	\$85.00	8	\$680.00
\$3.00	18	\$54.00	\$87.00	1	\$87.00
\$4.00	1	\$4.00	\$89.00	1	\$89.00
\$5.00	3	\$15.00	\$95.00	1	\$95.00
\$9.00	1	\$9.00	\$99.00	1	\$99.00
\$12.00	1	\$12.00	\$102.00	1	\$102.00
\$13.00	1	\$13.00	\$112.00	1	\$112.00
\$16.00	1	\$16.00	\$116.00	1	\$116.00
\$17.00	15	\$255.00	\$119.00	1	\$119.00
\$20.00	2	\$40.00	\$136.00	1	\$136.00
\$21.00	1	\$21.00	\$170.00	1	\$170.00
\$25.00	1	\$25.00		145	\$6,433.00
\$27.00	1	\$27.00			

S. KUBROM		
O01 Charge - Cash <u>Rate</u> \$24.00	<u># Tickets</u> 1	<u>Total Fees</u> \$24.00
O01 Charge - Credit		\$24.00
<u>Rate</u> \$6.00	<u># Tickets</u> 1	Total Fees \$6.00
S. KUBROM	460	\$6.00 \$8,359.00

From 10/04/2011 01:27:00AM To 10/11/2011 11:37:00PM

### T. GEBREMICA

<b>Daily Transient - Cr</b> <u>Rate</u> \$16.00 \$40.00	edit Card <u># Tickets</u> 1 1	<u>Total Fees</u> \$16.00 \$40.00
¢	2	\$56.00
T. GEBREMICA	2	\$56.00

Y. DESTA			\$16.00	16	\$256.00
	- h		\$19.00	1	\$19.00
Daily Transient - Ca Rate	I <b>sn</b> <u># Tickets</u>	Total Fees	\$20.00	6	\$120.00
\$2.00	2	\$4.00	\$22.00	1	\$22.00
\$3.00	1	\$3.00	\$24.00	4	\$96.00
\$4.00	30	\$120.00	\$28.00	6	\$168.00
\$6.00	1	\$6.00	\$32.00	7	\$224.00
\$8.00	4	\$32.00	\$35.00	1	\$35.00
\$12.00	14	\$168.00	\$36.00	3	\$108.00
\$14.00	2	\$28.00	\$40.00	4	\$160.00
\$15.00	1	\$15.00	\$44.00	3	\$132.00
\$16.00	7	\$112.00	\$48.00	2	\$96.00
\$18.00	2	\$36.00	\$52.00	2	\$104.00
\$19.00	1	\$19.00	\$56.00	2	\$112.00
\$20.00	8	\$160.00	\$60.00	3	\$180.00
\$23.00	1	\$23.00	\$64.00	1	\$64.00
\$24.00	6	\$144.00	\$68.00	2	\$136.00
\$27.00	1	\$27.00		98	\$2,353.00
\$28.00	5	\$140.00	Y. DESTA	201	\$4,106.00
\$31.00	1	\$31.00		201	φ <del>4</del> ,100.00
\$32.00	5	\$160.00			
\$36.00	2	\$72.00			
\$40.00	3	\$120.00			
\$42.00	1	\$42.00			
\$43.00	1	\$43.00			
\$48.00	1	\$48.00			
\$60.00	1	\$60.00			
\$64.00	1	\$64.00			
\$76.00	1	\$76.00			
	103	\$1,753.00			
Daily Transient - Cr	edit Card				
Rate	<u># Tickets</u>	<u>Total Fees</u>			
\$4.00	6	\$24.00			
\$8.00	9	\$72.00			
\$10.00	1	\$10.00			
\$11.00	1	\$11.00			
\$12.00	17	\$204.00			

Grand Total:	3,943	\$57,019.00